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(50) Division, Dividing 2 digit

Name:

642 =

742 =

46+2 =

90 +3 =

15+5=

58+2 =

80+4 =

98 +2 =

28+2 =

72+2 =

51+3 =

44 +4 =

84 +2 =

18+2=

48 +6 =

88 + 8 =

40+8 =

40+2 =

94 +2 =

49 +7 =

60+3 =

32+8 =

15+3=

34+2 =

56+8 =

64 +2 =

40+4 =

12+4=

44 +4 =

36 -3 =

16+8 =

604 =

21+3 =
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Date: Score:

30+3 =

322 =

305 =

52+2 =

69 +3 =

30+6=

96+ 4 =

90+5 =

24+6 =

72+9=

56=7=
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(50) Division, Dividing 2 digit
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Name: Date: Score:
642 =32 44+4 =11 34+2=17 30+3=10
742 =37 84 +2 =42 56+8=7 32+2=16
46+2 =123 18+2=09 64+2 =32 30-5=6
90 +3 =30 48 +6 =28 4+4=1 52+2=26
15+5=3 88 +8 =11 40+4 =10 69 +3 =23
58 +2 =29 40+8=5 12+4=3 30-6=5
804 =20 40+2 =20 44+4=11 7+7=1
98 +2 =49 94 +2 =47 36+3=12 96+ 4 =24
28+2=14 6+2=3 6+3=2 90+5=18
72+2 =36 49+7=7 16+8=2 24+6=14
51+3=17 60 +3 =20 604 =15 72+9 =38
9+9=1 32:8=4 21+3=7 56+7=8
69 +3 =23 15+3=5
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